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Candidates must write the Code on the
title page of the answer-book.

o YA AT H A Toh 38 Y- § GG I8 12 & I 2 I8 HHIH h & |

o TH-UA H TEH T H AR T T HIE TR Hl BH IW-YEIH 6 JE-I8 W
forg |

o FYA IE WA W yATA H 227 F |

o HUAT U T I fIGHT I[& e W Uget, T T ShHTh a3 o |

o T YHUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WA W foaw gatg
T 10.15 &< fopam M@ | 10.15 S @ 10.30 S dh D hael YIH-UT I gl
3T 39 AT & GRE d IT-YfEdeh! W hIg I g 1@ |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Jgi=r)
GEOGRAPHY (Theory)
REgiRa a7 : 3 o2 ST 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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(i)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

3G Jo7-97 4 FA22 F9T & |

Tyt g97 AT & |

o7 Q&1 1 8 7 37fa TG-ITT F7 & | TP Jo7 1 37 BT 8 | JAH 97 HT
I 40 ¥Ieg] & 3718 787 &7 FET |

Y97 G 8 T 13 TTY-3IF0T J97 8 | I4% J97 8 3 H & | FIF o HT
I 80 - 100 sz & 37 757 &1 T30 |

97 &7 14 T 20 -39 397 & | I9F J97 5 37 BT & | AP T BT
I 150 I3 @ 3718 77 &1 F05T |

97 &7 21 HITciw T H1 TEEET YT 37 T forgd @ gafad 8 | 9T
q&IT 22 YIMicrs e # fEdfa F1 3uges gl @ §d @ gada § | 9%
Jo75 37 F & /

37! 13T T fava aoT YR F IG@r-qrfA B FR-JleddHT @ GorT T
# /

{GT-TrfE] & @M & 77 @t 77 2¥aeied & 3717 &1 3FHlT & il
g/

General Instructions :

(1)
(i)
(iii)
(iv)
(v)
(vi)
(vit)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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Qusg h
SECTION A

I
~

1. YA & foregl & I T & 9m faflge |
HYAT
URd o fohegl a1 Heehlei= R o 9 fafigu |
Name any two ancient towns of India.
OR

Name any two medieval towns of India.

D] ~
o]~

Do ~
Do ~
11
~

2. TR H HSM-SIfrsEn dfe qg § TOd SHEE B o &I SR I favemu
iU | 1
AYAT
STIATH 3T I H =X T hIVT | 1

Analyse the main reason for dense population in ‘Katanga-Zambia
Copper Belt’ in Africa.
OR

Differentiate between immigration and emigration.

3.  Ufagiiyess TR weehi sl 1 ATRNd Hd @ ? 1

Why do historic towns attract tourists ?

4. HUR ¥ Haifes 1@ I 9cd a1l <91 Bl 9 faRay | 1

Name the country that has the highest density of rail network in the
world.

5. ‘A =9 g qur SR 9 9 i § AR T HIVT | 1
AT
o it F o oS oy FR F i e HifC | 1
Differentiate between ‘Culturable wasteland’ and ‘Barren and

Wasteland’.
OR

Differentiate between ‘Dryland farming’ and ‘Wetland farming’.
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6. sfeq with 98t wue &9 U 3udl fordt wer watawiiy goen & w@ hifsw | 1

Examine any one environmental problem that emerged in the Indira
Gandhi Canal Command Area.

7. 39 YEE &1 AW ey e 9ra 6 SEe 6 gig o 9R-9R 5g 7 @
g | 1

Name the phase in which the growth rate in the population of India is

slowing down gradually.

Qs 9
SECTION B

8.  a-Tiyeare i Hehour 1 fohae Tqa w1 2 Fa-Fgerare i Heheur1 i fehedl a1
Torerwarst =1 g i | 1+2=3

Who introduced the concept of Neo-determinism ? Describe any two

features of this concept of Neo-determinism.

9. Tona =R Teq (s &.311.) hl SAraraT IR forig w=I foram 7 2 fopeail

A RO skl T KT | 1+2=3
JAaT

FT Farad (e T 9R) % YR W ffehd F SRR o TG qoHl ohl

ST HIT | 1x3=3

Why has World Trade Organisation (WTO) been criticised and opposed ?

Explain any three reasons.

OR

Explain three types of seaports classified on the basis of cargo handled by
them.
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10. iU U gfes 1 gragTigds tereH Hife 3t 39 e fgu 7T g i % IW
fofau - 1+1+1=3

(10.1) ¥HHRE ° fe@m T A" ©@ s9d S99 hl ugEE hIfGT I IHEH
T fafeu |

(10.2) 39 el Ud $E9Td €93 < foqu A < @rdi o1 3g@ Hifu |

(10.3) I3 TS U 3ETd TIF Tohd TehI TEfTer foehtd T STMUR QIR Hdn
72
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Study the given map carefully and answer the questions that
follow :

Iron & Steel Plant

M Manganese
W Steel Plant

. X Gorumahisani
Kutupit
Bonaigarh B4

(10.1) Identify and name the iron and steel plant shown in the map.

(10.2) Mention the sources of manganese for this iron & steel plant.

(10.3) How does this iron and steel plant form a base for industrial
development ?

Fie :  [HElciga 397 S gieanad ghenteEn & 077, 397 G891 10 @ T R &
Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 10 :

ATgT U9 SEId IS ol W ITNT HAT HEl AT & 2 3| digd TI
SHifsT | 1x3=3

Why is the iron and steel industry known as ‘heavy industry’ ? Explain
with examples.

11,  STUST SAUR o Y9 gR o €9 § AR TG GoT bl YfHehT 1 Jodreh
HIfT | 3

Evaluate the role of Indian sea-ports as international gateways.

64/1/1] 6
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12. = fu mu @ @1 gragHiqds stemE Hif 3R 396 A o e et %
I feIfe 1+1+1=3
o
E

o

B T
EA umdior

gfd 1000 &S T o1 H |

fad wE SiE we T SIS
(12.1) 38 foefia <@ o1 W fofg, S0 vl aei 3 weifas g
IR AT B
(12.2) Torm foerrasfia <91 # IO &= H Haife 3Tghd foRTgaTd 9 Sl
27
(12.3) e foenféa w # umfior &t o aifess wftega fermgama arm ST & 2

Study the diagram given below carefully and answer the questions that

follow :

1200

10321087 1069 1072 1062 1051

& 1000 Il Urban
g EA Rural
o 800
(e}
S .
= 600
Q
(oh
2 400
=
g 2001
=

Zimbabwe Canada Brazil Nepal Finland New
Zealand

(12.1) Name the developed country which has the most favourable
sex-ratio in urban areas.

(12.2)  Which developing country has the most favourable sex-ratio in
rural areas ?

(12.3) Which developed country has the most unfavourable sex-ratio in
rural areas ?
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Fig:  [HElciga 397 S gieanad ghenteEn & 077, 397 &I 12 @ T R &

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

TUR o $© ou § formguTa wfgere o gfaea =i 8 2 Tuse Shifu | 1+2=3

Why is the sex-ratio unfavourable to women in some countries of the
world ? Explain.

13. THd fohE o T AEQ &AW o ®9 § Had INOAAr shi GehodT ol HeATeh

ST | 3
HAYAT
AHa fohE & 999 Ae@qUl Hl H 8 T GHAT hl HehoddT 1 HoToh
ST | 3
Evaluate the concept of ‘sustainability’ as a strong pillar of human
development.
OR

Evaluate the concept of ‘equity’ as one of the most important pillars of
human development.

@ us 1
SECTION C

14. IR § S=fd Ao i 1 fohegl gia foRIvarsti sl samen it | Ix5=5

Explain any five features of ‘plantation agriculture’ practised in the

world.

15. “dOR ¥ 98 e % 3@ H e B sme s fuifa s g 17
FHIA it gfee K | 5
arera
“dor w # fafmio e § 3= fenfiehl qdiaan f R 17 38 s i g
HIT | 5

“Locations of large scale industries in the world are determined by
several factors.” Support the statement.
OR

“High technology is the latest generation of manufacturing industries
across the globe.” Support the statement.

64/1/1] 8



16.

17.

18.

19.

20.

QST TETYAT ST G&IT =1 TehaT SIHT ST ? WA § QST GETeAT & S8 o

fepal o adienl hl =amEa <hIfST | 2+3=5
YT

“AHRITA S o a3k ehrs difedfam-sggd 3R a&i Sl 3ucrsy

HUd & |7 IUYH ISEWN dfgd 39 A i gfse il | 3+2=5

Why should mineral resources be conserved ? Explain any three ways to
conserve mineral resources in India.

OR
“The non-conventional energy sources provide more sustained,

eco-friendly form of cheaper energy.” Support the statement with suitable
examples.

TR I T & Hawd U9 ITATHT hl sqmedn shifau | 3+2=5
AUAT

“Iung TER S ekl & wEvaqel fireht T @1 8 |7 Sueh Sl afd s
[ hl gfsd VT | 2+3=5

Explain the importance and achievements of Indian rail network.
OR

“Satellite communication is playing an important role in several ways.”
Support the statement with suitable examples.

forprarsfiar guni o ooy sfeaat <t foedl afer T FWeTsti o1 9uiF hIfT | 1x5=5
Describe any five major problems of rural settlements in developing
countries.

WRA § ST TGYT o RO T FHTE i fowetsor HIY | 3+2=5

Analyse the causes and consequences of water pollution in India.

YA H WMd o™ gahieh o1 HodAThd i H T Sfiad q91 ST
TIfRehTul shl Y[R T forgeiwor I | 3+2=5
Analyse the role of healthy life and social empowerment in assessment of

Human Development Index in India.

9 P.T.O.



21. HWER % U T TSHifos @A (98 13 W), W 9rE HEicle devi <h
A, B, C,D 3R E ¥ fegrn g | 39! ugaH Fefdfad SHerl i Teg @

hifoTE 3 I9eh T AW 3 T8 Gidl 718 W@rel W fakau - I1x5=5
A, RS 9] qTH

B. Yq@ HHgl qoA

C. fHates qugw &1 & Y@ &=

D. §m &

E. 3heEifies wem

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :
A. An international airport

A major seaport

C. A major area of subsistence gathering
D. A mega city
E. An industrial region

g :  HEkiiad 3eT #aa g ghgniaal & g, JvT @ 21 & €
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) U9 o Tl Toh Y@ FHG 9o 1 AW A& |

(21.2) URMET % fhel T AU 91 9o o1 919 e |

(21.3) <fegur sTHfER o forelt T A &t o1 faRaw |

(21.4) I IHRT o Teh IR T30 o 9H fARgu |

(21.5) 3ThIhT o Y@ fafe d@ugw &= 1 9 fafaw | 1x5=5

64/1/1] 10



(21.1) Name any one major seaport in Europe.
(21.2) Name any one international airport in Asia.
(21.3) Name any one mega city in South America.
(21.4) Name an industrial region in North America.

(21.5) Name the major area of subsistence gathering in Africa.

22. WRA % U U TSHifoe @A (98 15 W), § Ffafea 9 9 gt o
Hiifcteh Tegon i fe@msy 3R Ik 9 fofen Ix5=5
(22.1) 37T H TH g 30Eh GH
(22.2) a8 U9 fan sty 6t T qay Aty 3
(22.3) TGS 1 JUN 3G TSI
(22.4) 3THH I Th AU 1Y T
(22.5) I Y I Teh HTFEAI JaIaTSl UTeh
(22.6) TSRIA %I Th ot IMET HREHT
(22.7) 98 UsF T8 TR 1 TR 998 $H 3
(22.8) gferft @ AUSH T YA

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) :

(22.1) An Iron Ore mine in Odisha

(22.2) The State with the largest number of immigrants
(22.3) The leading producer State of rice

(22.4) An international airport in Assam

(22.5) Software Technology Park in Madhya Pradesh
(22.6) An Oil refinery in Gujarat

(22.7) The State with lowest level of urbanisation

(22.8) Headquarter of Southern Railway zone



Ok~

Fig:  [AEliigd 397 o gIEETaT et & g, 397 G&IT 22 @ T W
& | faeg? i yoi & 3w Ffow |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 319 & ST Y go sl 4 ferfau |

(22.2) HET YN o HIFEIIL SHTATST UTeh o1 ATH fafigu |

(22.3) BTG % Teh Wi 3TFh @H i 99 faRau |

(22.4) 3T TF 1 9 fafae, fored smyanfet 6 g o8 1faes 2 |

(22.5) =TEd < IO IcATGh s 1 A fIRaT |

(22.6) TSIA < REt T do IEA HR@H @1 AW fafaw |

(22.7) cferoft I Hved & gEaTerd 1 9 faReaw |

(22.8) TR % TEH HH TR ATl TsT H1 W fafaw | 1x5=5

(22.1) Name an international airport in Assam.

(22.2) Name a software technology park in Madhya Pradesh.
(22.3) Name an iron ore mine in Chhattisgarh.

(22.4) Name the State with the largest number of immigrants.
(22.5) Name the leading producer State of rice.

(22.6) Name any one oil refinery in Gujarat.

(22.7) Name the headquarter of Southern Railway zone.

(22.8) Name the State with lowest level of urbanisation.
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For question no. 21
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Ol
I3 9. 22 & forw For question no. 22
TR T {@I-Ue (T ifeen)

Outline Map of India (Political)
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